
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

1st Month, 1st Week, 6th Day Revision Test (1st Week)

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) Which is a property?    ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????

(a) division            iÏŠnÛo (b) subtraction       ¸j

(c) multiplication  ¢! (d) transitive ¼e$

(ii) Which order of property is used? ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤»»»»%%%%ûûûûìììì????

(a) multiplicative inverse ¢!wk (b) additive inverse Rwk
(c) division            iÏŠnÛo (d) None                       Ãð7

(iii) Which is a property?  ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????
(a) trichotomy      �O (b) transitive ¼e$
(c) multiplication  ¢! (d) both a & b   ŠzâV b Zzg a

(iv)  If a < b and c < 0 then a.c > b.c is called _____ property:

{{{{¤¤¤¤BBBBCCCCììììXXXX a.c > b.c ƒƒƒƒVVVVÂÂÂÂ c < 0 ZZZZzzzzgggg a < b ZZZZ¤¤¤¤////
(a) trichotomy      �O (b) transitive ¼e$
(c) division            iÏŠnÛo (d) multiplication  ¢!
(v) Which is a property?   a > b then a + c > b + c ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????
(a) division            iÏŠnÛo (b) multiplication  ¢!
(c) addition        R (d) subtraction       ¸j
(vi)Maham has 119.8 metre ribbon. If she divides it into 2.42

equal pieces. The length of each piece will be:

'''',,,,ZZZZ'''',,,,••••zzzzVVVV~~~~„„„„™™™™CCCCììììXXXXCCCCÙÙÙÙ••••}}}}ÅÅÅÅMMMMððððƒƒƒƒÏÏÏÏ:::: 2.42 ¢¢¢¢aaaagggg0000ììììXXXXzzzz{{{{gggg0000ÃÃÃÃ 119.8 ââââëëëëÆÆÆÆ0000****kkkk
(a) 47.3 (b) 48.6 (c) 49.5 (d) 50.2

(vii)The area of rectangle is  cm2 whose length is  cm. What

will be the width of rectangle?

vvvv¢¢¢¢aaaaììììXXXXllllÅÅÅÅaaaahhhhZZZZððððHHHHƒƒƒƒÏÏÏÏ???? vvvv¢¢¢¢aaaaììììTTTTÅÅÅÅMMMMðððð ZZZZqqqq----llll»»»»ggggKKKK

(a) (b) (c) (d)

(viii)The absolute difference between 2 and 3 is: ÆÆÆÆŠŠŠŠggggxxxxyyyy°°°°ŠŠŠŠ~~~~����ÛÛÛÛttttìììì:::: 3 ZZZZzzzzgggg 2
(a) 5 (b) 6 (c) 3 (d) 2

(ix)  The absolute value of -36 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: -36

(a) 36 (b) –36 (c) 36 (d) (36)

(x)  is a _______ number: °°°°ŠŠŠŠìììì:::: _______ ZZZZqqqq----
(a) real Ç (b) rational  **ê

(c) irrational )**ê (d) recurring           áZà
(xi)Which of the following are terminating decimal?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚−−−−ŸŸŸŸZZZZ((((ggggttttìììì????

(a) (b) (c) (d)

(xii) The absolute value of 4 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: 4

(a) –4 (b) 16 (c) –16 (d) 4

(xiii) The absolute value of 88 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: 88

(a) –88 (b) 88 (c) 88 (d) a&b b Zzg a

Q.2.  Answers the following questions. ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]ŠŠŠŠ,,,,XXXX
(i) How many pieces of  metres of ribbon can be cut from a ribbon

which is  metres long?

¢aÆÄ{»LYMh÷? ¢aEg0Ð
(ii) Identify whcih property is used in the following.

Šg`fs~ZEwƒäzZà**',Z',~)))zZ](Å¶K0+„™,X
(a) (b)

(iii) What is the absolute difference in each of the following?

Šg`fs~ÐCÙZq-»°Š~�Ût¥x™,X
(i)   8 and –3   –3 Zzg 8  (ii) 2 and 3 3 Zzg 2

(iv) Separate rational and irrational numbers. **êZzg)**êZ°ZŠÃe{e{™,X

(i)   2.751  (ii)

Q.3. Zeeshan wants to fill 137.5 litres of petrol in bottles. Find the
number of bottles if: (a)The capacity of each bottle is 5.5 litres.
(b)The capacity of each bottle is 6.25 litres.

ßßßßiiiiððððzzzzwwww1111ŒŒŒŒVVVV~~~~½½½½********eeeeLLLLììììXXXX1111ŒŒŒŒVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™,,,,ZZZZ¤¤¤¤////:::: 137.5 ffff....yyyy
ßßßßiiiiÅÅÅÅ&&&&¢¢¢¢AAAAììììXXXX 6.25 CCCCÙÙÙÙ1111LLLLÞÞÞÞ~~~~ (b) ßßßßiiiiÅÅÅÅ&&&&¢¢¢¢AAAAììììXXXX 5.5 CCCCÙÙÙÙ1111LLLLÞÞÞÞ~~~~ (a)
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